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3G Jo7-97 H 20 TFawHT THR & Fo7 & | I3 Jo71 7% F1 8 |
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(A)  HIT 18T g 3N HIT 2 TEH 7 |

B) HIT 13T 8 M FAT 2T B |

(C) YT 13M 2N T |

(D) YA 13 2THI 3EA 7 |

2. fmfafed 4 9 @ a6 ggam Hif 1
(A) GDPyp = NNPpc + Joig™
(B) NDPpc = NNPpc + g 3ATcIa
(C) GNPyp = GDPyp + Tocsli & 9T I[g 9199 ™
(D) NNPFC = NDPMP"'W
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General Instructions :
Read the following instructions carefully and follow them :
(i) This question paper contains 34 questions. All questions are compulsory.
(it)  This question paper contains two sections :
Section A — Macro Economics
Section B - Indian Economic Development

(iti) This question paper contains 20 Multiple Choice type questions. Each question
carries 1 mark.

(iv) This question paper contains 4 Short Answer Type-I questions. Each question
carries 3 marks. Answer these questions in 60 to 80 words.

(v) This question paper contains 6 Short Answer Type-1I questions. Each question
carries 4 marks. Answer these questions in 80 to 100 words.

(vi) This question paper contains 4 Long Answer type questions. Each question
carries 6 marks. Answer these questions in 100 to 150 words.

(vii) Attempt all parts of a question together.

(viii) In addition to this, note that a separate question has been provided for Visually
Impaired candidates in lieu of questions having visual inputs, map etc. Such
questions are to be attempted by Visually Impaired candidates only.

(ix)  There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

SECTION A
Macro Economics

1. Read the following statements carefully : 1

Statement 1 : If in an economy the level of income increases (AY), it will
always proportionately increase the level of consumption
(AC).

Statement 2 : Marginal Propensity to Consume (MPC) and Marginal
Propensity to Save (MPS) are always equal to each other.

In the light of the given statements, choose the correct alternative from
the following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

2. Identify the correct equation from the following : 1
(A) GDPyp = NNPpc + Depreciation
(B) NDPpc = NNPgpc + Net Indirect Taxes
(C) GNPpyp = GDPpp + Net Factor Income from Abroad
(D)  NNPpc = NDPyp + Depreciation
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3. Tmafafaa wuat o afen - efispem (A) 3t &rwr (R) | = feu T fompewi ®
T wdl foshew T 1
37T (A) : O TR fRufa @ et sifess Stem &1 srufeafa @ ® |
FRU(R) : O UR i feafa o, aeft sege 9 gem safea o vEfd

TG G W SR 916 BIal & |
IEETR I
(A) R (A) 3T HRO (R) AT T 2 3R RO (R), 31fiemed (A)
TR AT 2 |
(B)  3TfheM (A) 3R ST (R) SHT T 8, oifeh Rl (R), AMHH (A) I
& ST 7@ 8 |

(C) 3R (A) FF 7, Wlohd SR (R) I8 3 |
(D) 3T (A) 3HH 8, Afehd HRUT (R) TF 2 |

4.  “fcT 9 T[T 2023 %, AN Tk TaEES (NSE) o TRl o JIER, Th T8
i afy =14, 9 w5 2023 - 9 S 2023, H et €AW fHesmhl (FII) g
T 309 HUS i g forsht i T8 off |”
ST TH-¢H URd & YA dded % T 981 | g foa

e | (feh Tt ol 9 & fow @&t faehew 1 =om fifSw) 1
(A) =T, sfee (B) i, shise
(C) =, shise (D) s, Sfee

5. TfIRad W € qgT Mqd (M) hl sr@ey Tomivar /fasiwareti i vgam Hife . 1
(1) 39 9HY % Ueh foig W AT @1 7 |
(i) S50 GLHR & IE T U §4-HSR i AffaId Ta1 foham SImar 2 |
(iii) I8 TS TUSE o hrg ¥ Soh & ITE T g Bieft 1 |

IEEI
A @) W 3i) (B) (i) 3R (i)
(C) had (ii) (D)  had (iii)
6. i % AR =] &F GRI TohaT T oA STHNT = g
T TIASH 7 | (fh Tt &l 9 & o @&t faehey &1 =9@ i) 1

(A) T U9, W Hew
(B) T&mad o, df@ 39dm
(C) e e, @ e
(D) &I 394, YRE 39Hi
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Read the following statements — Assertion (A) and Reason (R). Choose
the correct alternative given below : 1
Assertion (A) : Full employment situation refers to absence of
involuntary unemployment.
Reason (R):  Under full employment situation, all the willing and able
bodied people get employment at the prevailing wage rate.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

“As per the National Stock Exchange (NSE) data, dated 9th June, 2023,
there was a mnet selling off worth < 309 crore by Foreign
Institutional Investors (FIIs) over the period of one month i.e.,
9th May, 2023 — 9th June, 2023.”

The above mentioned transactions will be recorded on side of

account of Balance of Payments of India.
(Choose the correct alternative to fill in the blanks) 1

(A)  Debit, Current (B) Credit, Capital

(C) Credit, Current (D) Debit, Capital

Identify the incorrect feature(s) of money supply (M) from the
following : 1
(1) It is measured at a point of time.

(i1)) It does not include stock of money held by the government.
(iii) It is always the currency in the hands of the Central Bank of a

nation.
Alternatives :
(A) (1) and (ii) (B) (i1) and (iii)
(C) (1) only (D) (iii) only
Total consumption expenditure by households under Keynesian
Economics is a combination of and

Choose the correct alternative to fill in the blanks) 1
(A)  Autonomous Consumption, Autonomous Investments
(B)  Autonomous Investments, Induced Consumption
(C) Induced Investments, Autonomous Investments
(D)  Autonomous Consumption, Induced Consumption
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(T=h T &t WA & fofe o} fasheq &1 == difvw) 1

(Teh o &1 WA & fore o) faeshew 1 =am Fifso) 1

7. W (sl hl TgaH HINT I gl {aehed i I hITIT,
T STHT | T (80%) STRIET 91T
(20%)
I 5000 4000 ().
II 4000 (). 800
DA | (3. (iv).. 5000
oy -
(A) 1000, 800, 20000, 25000
(B) 5000, 3200, 25000, 20000
(C) 1000, 3200, 25000, 20000
(D) 1000, 800, 20000, 25000
8. AW dqed (BOP) H 31 o1 arcad
(A) TR NA T &R YA
(B) T WIfeadi WX =Te] WdT Y
(C) St @ e IS @rar wiitaat
(D) WA YTaE W &R Tieaai
9. TorHl wrcufier tefeuawen & fow am <fifve fo
C =100 + 0-75Y (S&T C =397 9 Y = 379)
I, = 400 (I, = T fiemr)
73 ek (K) 1 94 g |
(A 5 (B) 4
(C) 6 (D) 3
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7. Find the missing figures and choose the correct alternative : 1
Round Deposits Loans (80%) | Reserve Ratio
(20%)

I 5000 4000 ().

II 4000 (). 800
Total .(ii).. .(v).. 5000

Alternatives :

(A) 1000, 800, 20000, 25000
(B) 5000, 3200, 25000, 20000
(C) 1000, 3200, 25000, 20000
(D) 1000, 800, 20000, 25000

Surplus in Balance of Payments (BOP) refers to the excess of
(Choose the correct alternative to fill in the blank) 1

(A)  Autonomous payments over Autonomous receipts
(B)  Current Account payments over Autonomous receipts
(C)  Capital Account receipts over Capital Account payments

(D)  Autonomous receipts over Autonomous payments

Suppose for a hypothetical economy :

C=100+0-75Y (where C = Consumption and Y = Income)

Iy =400 (I = Autonomous Investment)

Value of Investment Multiplier (K) would be .
(Choose the correct alternative to fill in the blank) 1

(A) 5 B) 4
C) 6 D) 3
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10. #H WU 6, T Hede Fdaeen w1 AMK Fgad T 500 HUS H

3R GdeH guial & | HTa i o1 god T 1200 HUS 9 A JraH

T 400 HUS B |

JIUST (Merchandise) 3TRITd 1 oI T
(T=h T &t WA & fore ot fashew &1 =5m Fifsw) 1

(A)
(B)
(®)
(D)

11. (%)

(@)
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1700
750
700
900

HUE BAT |

Tsh HlcdHh JdTaE & fu = oy U ATehel & JAUR W, 1o

AT W I TRl 37UTE (NDPpe) % o3 1 I RN 3
e i (7 g@' )
(i) | Sehal SRe TATM ot fomior 200
(i) | fr=ta 50
(iii) | 31fcm TR ITUNT = 320
(iv) | earft dsft w1 3uHm 35
(v) | Afom =ie] 399 == 470
(vi) | HTcTEEl (Inventory) et
(32) (-) 40
(vil) | 3T 60
(viil) | Fg AT T 50
(ix) | focer & 9T g HH = 20

HAYAT

(i) 3UYH 3GTEN <h! TERIAT © STRIATSl hl STGUROM T Ui hifvg | 2

(i) T SARRY @ giTia HifSe |

:
Qcollegedumas
IIIII ‘s largest Student Review Platform



10.

11.

11-58/1/1 P.T.O.

.
Qcollegedumas
India’s largest Student Review Platform

-
[=::

Suppose, the Balance of Trade of an imaginary economy shows a
favourable balance of ¥ 500 crore. The values of merchandise exports are
T 1200 crore and transfer payments are ¥ 400 crore.

The value of merchandise imports would be ¥ crore.
(Choose the correct alternative to fill in the blank)

(A) 1700
(B) 750
(C) 700
(D) 900

(a)  On the basis of the data given below for an imaginary economy,
estimate the value of Net Domestic Product at Factor Cost

(NDPFc) .
S. No. Items .Amount
(in < crore)
(1) Gross Domestic Fixed Capital
: 200
Formation
(i1) Exports 50
(111) Government Final Consumption
: 320
Expenditure
(iv) | Consumption of Fixed Capital 35
V) Household Final Consumption
. 470
Expenditure
(vi) | Inventory Investment (Net) (-) 40
(vil) | Imports 60
(viil) | Net Indirect Taxes 50
(ix) | Net Factor Income from Abroad 20

OR

(b) @) Elaborate the concept of Externalities with the help of
suitable example.

(i1)  Define Operating Surplus.
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13. (%) F=AfaRea arfersr 1 qu HINT | 3™ & T 200 FHUS H TR TR ITHM
%o @ i FHif |
37T (Y) T sflaa 37y Gimra s
(THISH) | (THSH) | ¥gf7 (APC) ygfe7 (MPS)
0 (=) 30 - -
100 | ...l 1
200 | .l 0-8 |
300 | ...l 0-8 |
HAAT
(@) “Tortlt refeaaEen |, YeTiRTa Wy ST, TR 9 A1 8 A g |7
3CITEH, 3T & USIR o &R I 35k JHTE hl AT HIfT |
14. fafafaa oAt @1 99 qet gra yaTio i .
(%) o Soh forsll TfoaTen 1 THAT g1 THIhdl TR 3 |
(@) 9z fodfed YAl (Deferred Payments) % A& @ HY o &4 H HH
Tl 8 |
15. T 8 S 2023 % T ShHITS IFH § IgYd HHTaIRgd e 1 A-IdH
FERA HINT :
“arta fid o (RBI) 1 @@ faftor afafd 9 T €9 9 S9dmh 9 g
6:5% W IUiEfdd W o1 v fonm B | wfufa 9 samee w@ifge #ifa
(Accommodating Monetary Policy) ! A9H A W &IH higd H & faQ
wagH feran 2 |7
feu e T 9 g wme % YR W Amfifgd gl % S diNT
(%) I9IH T H T T 3R G I TG T ==l hIC |
(@) afg o Fufor aftfs 3 3% @ & @ A A, @ ggr mafd & Furfaa
a6t ==t HifST |
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Distinguish between fixed exchange rate system and flexible exchange

rate system.

(a) Complete the following table. Construct/Express the Consumption
function at ¥ 200 crore level of income.

Income (Y)
(in < crore)

Savings
(in < crore)

Average Propensity
to Consume (APC)

Marginal Propensity
to Save (MPS)

0

(=) 30

100

1

200

0-85

300

0-8

(b) “In an economy, ex-ante Aggregate Supply is less than ex-ante
Aggregate Demand.”

Explain its impact on the level of output, income and employment.

Justify the following statements with valid arguments :

(a) The Central Bank is the sole currency issuing authority of an
economy.

(b)  Money serves as a measure of standard of deferred payments.

Read the following text carefully from ‘The Economic Times’ dated
8th June, 2023 :

“The Reserve Bank of India’s (RBI’s) rate setting panel unanimously
decided to keep the benchmark lending rate unchanged at 6-5%. The
committee voted to remain focused on the withdrawal of accommodating
monetary policy.”

On the basis of given text and common understanding, answer the
following questions :

(a) Identify and discuss the economic issue indicated in the above text.

(b)  Discuss the likely consequence on money supply if the rate setting
panel would have decreased the said rate.

Page 11
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16. (%) TmAfciRaa i TSea WGl 12T Yoira Tiieaet | affehd hiforg, | 379

I o 984 H 9Y T ST ;
(i) R W ITH AW | ‘ 2
(i)  Toret TR Hraet bl foshl @ fafers wifeqa | 2
(i) YRA § Sifctehl 3T 1 TicdTiEd i o ol g Tsa SR
(USA) 9GhR g1 & T oty W@ | 2
3T

(@) @) = fau e A w eyes SemEd i i frefafed W
ThH) 3T H deddd &&E1 o1 fagawe hifv

(D RIGIEIG] 2
A1) Trr foem . 2
T ST ] A (T &rE #13)
5.501 2021-22 E
5001 MMM v<= === (RE) 2022-23
1507 e o (BE) 2023-24 >
4.001 N
3.50 1 o
3.00 1 228 U]
2.50 1 RIS /
2.00 - 2o I V %
= o o828 S 3 % %
01 e See EE8 23C punae M|
0501 .S = / 2
ol IR R R R
s Wl fowm e fien PN EEg  gwfiu
T nfafafeat IEETC
(@) () ‘T R’ g e "’ % i 3T wee hifv | 2

FIg: HEIIGT F97 FIT GBI qhgniear & o 397 &7 16 (i) & €9 |
g/
R Toie o TRt it &6 =men Fiflvu | 4

17. (%) Uh fg-85 Hied § 3T % =hig TaTg hl TGUROT 6 689 o sared
%”é'll

3
(@) “Aifgeh Tohal =] 3UE (GDP) i AT H JRdfereh dehel =iq] 3cUTG
(GDP) Tereft Trsg hl 3TTieles Hafg o1 98 Tehash & |
F7 39 faU T HA O A 7 2 fREl Q9 weue geaTcHe 3eTE
% 1Y U IT hI gfse HIfre | 3
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16. (a) Classify the following as Revenue receipts or Capital receipts. Give
valid arguments in support of your answer :
(i)  Interest received on loan. 2
(i1)) Disinvestment receipts from the sale of a government company. 2
(iii) Financial assistance by the Government of USA for promoting

girl education in India. 2
OR

(b) (@) Study the following chart carefully and analyse the changing
trends in the government expenditure on :

4} Transport 2
(II) Rural Development 2
TREND OF MAJOR ITEMS OF EXPENDITURE
(¥ lakh crore)
b~
2.501 2021-22 o
5.001 MMM Revenue Expenditure (RE) 2022-23 o
igg Il Budget Expenditure (BE) 2023-24 . g
3.50 A g
3.00 - o Qo 7
i RN
1.50 1 Swpheo I~ %8:;#"‘% %
10l 58 pps S S S8 o - mm / )
os0] S n [T 7 %I% n
' Social Welfare Urban Health Education  Agriculture and Rural Transport
Development Allied Activities ~Development
(b) (1) Distinguish between ‘fiscal deficit’ and ‘revenue deficit’. 2

Note : The following question is for the Visually Impaired Candidates only
in lieu of Q. No. 16 b(i).
Explain the stabilisation function of the Government Budget. 4

17. (a)  Discuss briefly the concept of circular flow of income in a two-sector
model. 3
(b)  “Real Gross Domestic Product (GDP) is a better indicator of
economic growth of a nation as compared to the Nominal Gross
Domestic Product (GDP).”
Do you agree with the given statement ? Justify your answer with
a valid hypothetical numerical example. 3

11-58/1/1 Page 13 P.T.O.
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18. Tamfafga oMl =l ufgu - 31fihe (A) 3T &1 (R) | 9 few o fawmedi #
T Tgt fashed gfw .
STfHYT (A) : W dEd U9 & s fafema 3 38 St wai =i
yfeeaeff g9 @ Tsp foam o |
HRU(R) : TSt & 5 3c91g ured AN TS T gicdehal § g9R
ST ATS8E UTed i | Sl T 991 sl off |
IEETR I
(A) AR (A) 3R FRO (R) AT TF § MW RO (R), ATHH (A) H
el 9T 7 |
(B) AU (A) 3R HRUT (R) HI T &, wAfehd SRUT (R), AT (A) HI
HE AT TET 2 |
(C) 3R (A) TcT B, Wfohd 1T (R) T 7 |
(D)  3TYHI (A) 3TH 8, Afehd HRUT (R) TF 2 |
19. 1970 % T W, UTfREAM 3 3794 I T USSR foharm o |
(Th o &t WA & fore ot faeshew 1 =ram ifse)
(A)  Tafercan straiies ate-T gad
(B)  3UMHI S&g3Ti daeh
(C) dSiTa aeget e
(D) foresft =R
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SECTION B
Indian Economic Development

18. Read the following statements — Assertion (A) and Reason (R). Choose

the correct alternative given below : 1

Assertion (A) : The excessive regulation of permit license raj prevented

certain private firms from becoming fairly competitive.

Reason (R): Private sector wasted huge amounts in obtaining licenses
rather than on improving the product quality and

international competitiveness.

Alternatives :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

19. In the decade of the 1970s, Pakistan nationalized its industries.
(Choose the correct alternative to fill in the blank) 1

(A)  Medical infrastructure
(B)  Consumer goods
(C)  Capital goods

(D)  Foreign trade

11-58/1/1 Page 15 P.T.O.
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FrafAfad oMt &1 SHYde AT HIMT :

FY7 1 : INUARG IMET & 3Tad, Ui G (I @, 8 9 dR
a7ife) 1 forepra femam T o |

FYT2 ; VR H ATTNH LT o [Ih™ o N driaes 32 fsifesr f&ai =
HgE T o |

feu U seET & I H, Efaiad # 8 wE) faeed w1 =e hifve
(A) HIT 19T 8 3TN HAT 2 3ITH 3 |

(B) U 130T 2 MM FA 2T 2 |

(C) YT 13M 2N T |

(D) Y 13 2 gHI 3 7 |

21. 9gIH iV fh Ffafad # 9 si-a1 foshed, SN foquE Yoret o 7@
STl % I 1 Al B
(A)  TIASH, YSHOT, TEEHT, TehiorT
(B)  3IcqTed, IS, JEEehtr, e
(C)  TAISH, TEER0T, YehionT, Iias
(D) wEEhRT, Yehfort, Afem, feraor
22. fafafaa waat i ufgr - AP (A) 3R R (R) | = fou e fasedi &
379 (A) : Tava SAMR e (WTO) 8 I8 3TUeT sl St & foh 98 Te=
TSI R Y, U TehalW%l 9T HAH Ufdeen & s & fore
T _amenia =i sgewe Tonfya |
PRU(R) :  UATE WU & @@, fova 3cared ¥ gfg wem 9 Afvaw
G T 35l 39T gifead s Aferd 7 |
IEETE
(A) 3R (A) 3R FHROT (R) THT T § MW HROT (R), AHeH (A)
TE! ST 2 |
(B)  AfYH (A) 3R HRU (R) THI T &, WAk ROl (R), ATTRH (A)
HE AT T ® |
(C) 3R (A) IcF 7, Wohd ST (R) T 7 |
(D) 3T (A) IHH 8, Afehd HRUT (R) TF 2 |
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20. Read the following statements carefully : 1

Statement 1 : Under the colonial rule, basic infrastructure (like

railways, post and telegraph etc.) was developed.

Statement 2 : The real motive behind the infrastructural development

in India was to strengthen the British interests.

In the light of the given statements, choose the correct alternative from

the following :

(A) Statement 1 is true and Statement 2 is false.
(B)  Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.

(D)  Both Statements 1 and 2 are false.

21. Identify which of the following alternatives indicate the incorrect
components combination of Agriculture Marketing System : 1
(A) Assembling, Storage, Processing, Packaging
(B)  Production, Assembling, Processing, Grading
(C) Assembling, Processing, Packaging, Transportation
(D)  Processing, Packaging, Grading, Distribution

22. Read the following statements — Assertion (A) and Reason (R). Choose
the correct alternative given below : 1

Assertion (A) : World Trade Organization (WTO) is expected to establish

the rule-based trading regime, to avoid unilaterally placed
arbitrary restrictions by member nations.

Reason (R) : It is imperative to enlarge world production and ensure

optimum utilization of world resources along with
environmental protection.

Alternatives :

(A)  Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.
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03, TR ol A TR - SR (A) S HT (R) | T o o e §
T T faemed gfe
S7YFIT (A) : I T 39T ANl o fou srfafcs amifees 9 anfdes 31am
3T R & U SR G 1 39T TR @

FRI (R) : ORI ¢RI HMEINIeh STYeh =T o fAHio 9 =9 4 9H9
frehT® Hehdehl H HehIcHeh oy feu 3 |

forepey

(A) IHI (A) 3T SR (R) THI Tcd 8 T RO (R), AHH (A)
g AT 7 |

(B) 3T (A) 3R RO (R) THT HcT 8, Afehd RO (R), MR (A) h
Tl AT TET R |

(C) 3R (A) FcF =7, Wohd ST (R) 7T 7 |
(D)  AMHHIT (A) 3TEH 7, k] RO (R) T 3 |

24, TAfcRed fosredl # &, faf=afia $N 99K & @ T 6l 789 HINT
(i) I HI I 3G Dl AW oI fcaa™ o g fogque yomedt =i
HIA F JHTST SHHT |
(i) TRl < AT foquH FHETE Blel H IR i gdlcdTigd ST |
(iii)  SHEERI ST SATHOT THAT |
(iv) hEehi i ITehl 3TN ohl TUETT 9 HET H IR H o O garedniga

T |
foeped -
A) () AR (i) B) () AR (ii)
(©) (i) 3 (iv) (D) (i) 3 [v)
25. UNA 9 UIh&d™ H SHA: E| aul o afdes gur @]
fepg mT 9 |
(Teh Tl 1 WA & T ot faeshed &1 =@ hifse)
(A) 19881978 (B) 1991, 1978
(C) 1991, 1988 (D) 1981, 1991
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23. Read the following statements — Assertion (A) and Reason (R). Choose

the correct alternative given below :

Assertion (A) : China has used the market mechanism to -create

additional social and economic opportunities for its

citizens.
Reason (R):  Social infrastructure creation by the government has
brought positive results in human development indicators
in China.
Alternatives :
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C)  Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

24. Identify from the following alternatives the imcorrect objectives of

regulated agriculture market :

1)

(i1)

To make the marketing system efficient and effective for farmers
to get best price of their products.

To discourage improvement of marketing infrastructure for
farmers.

(iii) To prevent exploitation of farmers.

(iv) To discourage farmers from improving quality and quantity of
their produce.

Alternatives :

(A) (1) and (ii) (B) (1) and (ii1)

(C)  (iii) and (iv) (D) (i) and (iv)

25. Economic reforms were introduced in India and Pakistan in the years

and , respectively.

(A)
(C)
11-58/1/1

(Choose the correct alternative to fill in the blanks)
1988, 1978 (B) 1991, 1978
1991, 1988 (D) 1981, 1991
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26. TARIRGT AT 1 SIS AT HINT 1

PHIT1 :

TSI Ufdest Taequr Te (NSSO) 3 SUSTHT &l 36 YR IRwTiva
fopa 2 T o8 9 sraen B, T =afts m & s1vm@ & wror fomn
HH & & Id & Al o auifad Faeen @ sm i g™ = ®
g | 9 % N il i Ay feufeat & dga wm w@ H
o1 /3T oI%h hid & |

FYT2 : NG S AP METE] el TS H J=d SIS AHAR WL

U 2 |

feu U seET % AT H, HTRad § § gel faehed 1 =99F $ifve
(A) H9F 19T g 3N HH 2 3WH % |
(B) U 13T 8 I FM 2T 2 |
(C) e 1R 23HI 9T & |
(D) %I 1 3R 2 AN 3 7 |
27. ugaH Shifve for frafafea @ & SH-81 G-20 1 957 T 787 2 ¢ 1
(A) SISt
(B)  Ategferm
(C) STy
(D) AT
28. (%) “MufEfies *@@ & CNH @Ee @@ H Il Tdraiedr
foams & 17
FT MY U T o § TEHT & ? 9Y bl o WY U IR hl gfee
T | 3
aroran
(@) 37 o o foEr | gay SAs wrw e a3 w6 it Hifa
Hehed, 1956 o d&d fa=IHd foham =T o | 3
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Read the following statements carefully :

Statement 1 : As per the National Sample Survey Organization (NSSO),
unemployment is a situation in which all those who,
owing to lack of work, are not working, but are seeking
work from prospective employers. They express their

willingness/availability to work under the prevailing

conditions of work and remuneration.

Statement 2 : Disguised Unemployment is generally a massive problem
in a highly populated country like India.

In the light of the given statements, choose the correct alternative from

the following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D)  Both Statements 1 and 2 are false.

Identify which of the following is not a member nation of G20 :
(A) Brazil

(B)  Australia

(C) Bangladesh

(D) Argentina

(a)  “During the colonial period, the occupational structure showed
lopsided movements.”
Do you agree with the given statement ? Justify your answer with

valid arguments.

OR

(b)  Elaborate the reasons owing to which the private sector was

regulated under the Industrial Policy Resolution, 1956.
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29, “9rg ®, U fen Hifa 2020 ° forerent & TaTHeiE TN W AUF T

fen g 17

(i) 39 ®eH H 3@ AHa St i (HCF) % |id i 989 hifeg | 1

(i) WRA o AT oo W 38 |iq o AYTfaa JuTal i foear & =amen
T | 2

30. (%) “OF® Ug & I 9 GmIIH AES o YT 7 I8 Geha fem B 6

TG A 2023 & HE H 9 ol N0 Diew, fava &1 ged Ak
STEET STl TS o T 8 17
=9 g 1970 & Tk H TYATE TS Tohod-STcAeh AIid o IRUMHT shl ST
HIT | 2

(@)
31. (%)
(@)
11-58/1/1

= I ool Tgfg W foRIv il &= (SEZ) % WWEl 6l == hifvg | 2

Y dehl g Ioi@ o AT shifore foh FAmafafad sem grg 8 a1 sra
A H, WRA SR A o §edl o $eead 3eed & o

(1)

(ii)

(1)

(ii)

-G AT A8 s HE@Ul heH 33T 8 | 2
gfieh — Sae T fhet Tsg § Tomm i feafa 61 v
A o ToTT 3w fopam ST 9TeTT Wk Hehdh @ | 2
HAAT
WRd U AfGAT I8 sl WicdTed ohid <hl STO9Iehdl <hl SIS
%”@Q | 3
My eentor e 4 fafadfieo nfafafest o fredl @ Ierew
T Il HIT | 1
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29. “In India, National Education Policy 2020 has stressed a lot on in-service

training of the teachers.”

(1)

(i1)

30. (a)
(b)
31. (a)
(b)
11-58/1/1

Identify the source of Human Capital Formation (HCF) indicated

in the aforesaid statement.

Elaborate the likely impacts of this source on the economic

development of India.

“United Nations Department of Economic and Social Affairs
indicated that India has overtaken China as the world’s most

populous country in the month of April 2023.”

Explain the consequences of one-child policy adopted by China in
the 1970s.

Discuss the impacts of Special Economic Zones (SEZs) on the

economic growth of China.

State and elaborate whether the following statements are true or

false, with valid arguments :

(1) In the recent past, the Government of India has taken
crucial steps, like Jan-Dhan Yojana, for efficient allocation

of financial resources.

(i)  Worker — population ratio is an indicator, used for analyzing

the employment situation in a nation.
OR

(1) Elaborate the need to promote women’s education in India.

(ii))  Mention any two examples of diversification activities in the

non-agro processing industries.

1
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() ﬁﬁaﬁ%wﬁmaﬁ%wm%wa 3cqH B A1l foheelf
AR 1 Ie@ T |
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(F) () “9Nd GLHR AT I3 T ISR YT b Ad, SNefeh & 1
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AYAT
@) () “R 5% % T B Td & — FHY IUeH W 789 off W@ &
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frfaTiad o &1 eaEYEes e hHiT

WRA H o1 a1 S YGUOT 1 & Y@ wEieR farstt @ Mued % fog
THR A 1974 H gl Fq01 2501 1€ (CPCB) sl €191 I | 366 18, U
T W gt yEiaeie faaet @ e & e o=t 3 ST9e-e Wi 9 | 3
d1€ (CPCB) 5, a1 3R Y YgUU ¥ He{ed 3Tl Sl Fehad N fordior
Hd 8 | 9 FeR /AR Femm@ 3 IcEsH & A [Huifid =d 8 | I 918 T
ﬁws@w%ﬁaw,ﬁﬁawaﬁ?wﬂ%quwm-waﬁgmqﬁﬁﬁgsﬁ
I THdl b Y & T Teheich] TERAT YGH HLd & | $Th1 DI d1g hi
Wﬁﬁ‘%mﬁﬂ% | 3 S H 91g TGWUl o el g ot SRR i dehHleh]

AT Y hd B |

Y 9IS A F 91 UGN § Hetud GEEATSA i A 9 AEUH Hf Fd 3
3R THt A9 9 IFHYM ! YRING hid 8 | $8h [T I I IR o A1 9
I SINTEehdl iishd TS id @ | PCB el 9 a1y MR & fueH
3TN IU=R & Faiea femmee, dfgar i Aniesie gfueh d9r #d 2 |
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(a)  State any two problems faced by farmers during the initial years of
organic farming.

(b)  “In the current situation, Information Technology plays a vital role
in achieving food security in a nation like India.”
Justify the given statement.

(a) (1) “Under the liberalisation measures taken by the Government
of India, regulation of industrial sector was extremely
crucial.”

Reject or support the given statement with valid arguments.

(i1)) “Despite the implementation of Green Revolution, 65 per cent
of India’s population continued to be engaged in the
agriculture sector till the 1990s.”

Justify the given statement with valid explanation.

OR

(b) (i) “Every coin has two sides — debate over farm subsidies is one
such classic example of the same.”
Justify the given statement with two arguments each in
favour of and against the continuation of the farm subsidies.

(ii) State the importance of “Growth with equity” as the objective
of Indian economic planning.

Read the following text carefully :

In order to address two major environmental concerns in India, viz.
water and air pollution, the government set up the Central Pollution
Control Board (CPCB) in 1974. This was followed by states establishing
their own state level boards to address all the environmental concerns.
They investigate, collect and disseminate information relating to water,
air and land pollution, lay down standards for sewage/trade effluent and
emissions. These boards provide technical assistance to governments in
promoting cleanliness of streams and wells by prevention, control and
abatement of water pollution, and improve the quality of air and to
prevent, control or abate air pollution in the country.

These boards also carry out and sponsor investigation and research
relating to problems of water and air pollution and for their prevention,
control or abatement. They organize, through mass media, a
comprehensive mass awareness programme for the same. The PCBs
prepare manuals, codes and guidelines relating to treatment and disposal
of sewage and trade effluents.



[=1430s

o

3T < fafem g 9 9y e 1 JedTehd hd & | arad H 370

e waltw srfuerifat & wieam @ U5 a8 U @Y AW 9 T
3T & FHI-EHy W Hew, fem o M I ®q SUed Ul i
Tt T faeeisul s o foiw htar 3 | I8 SEiv-r Huior 9 TR fFEieE &+
fQ sTavas gyl qon a1y TurEa Atk i YSH AT B |

TGEUl A SIS 9 WWUl H HefUd debeilehl 3T WIfEdshl 3AThSI I
gohetd, GUTeA IR faawor otd & | 3 125 i (sud IwAfear ot i §), 3¢
e, @TEt, e, o, ATe 3R T80 B ol 6l ureT hl B Hd § |
feu U e 9 AW FE % AR W ffdfiaa geE % s A

(F) W FFdl @ HEI 1 Soo@ HIVT e SRO hg Tgwe fRmw o

(CPCB) &l 19T i 75 off | 1
(@) e yguu e §i€ (CPCB) g b I ot foheel @1 sl <

ST HIT | 2
(M) 9Rd gr aneiE e gfraa e & fore a8 el g1 o

1 FUMH HIT | 3

11-58/1/1 Page 26

Qcollegedunlas
.................................



-
[=::

They assess the air quality through regulation of industries. In fact,
state boards, through their district level officials, periodically inspect
every industry under their jurisdiction to assess the adequacy of
treatment measures provided to treat the effluent and gaseous emissions.
It also provides background air quality data needed for industrial siting
and town planning.

The pollution control boards collect, collate and disseminate
technical and statistical data relating to water pollution. They monitor
the quality of water in 125 rivers (including the tributaries), wells, lakes,
creeks, ponds, tanks, drains and canals.

On the basis of the given text and common understanding, answer the
following questions :

(a) State any two concerns owing to which the Central Pollution
Control Board (CPCB) was established. 1

(b) Explain any two functions performed by the Central Pollution
Control Board (CPCB). 2

(c)  Elaborate any two strategies to ensure sustainable development as
adopted by India. 3
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